644

2J-209-
1FFIBFIST

REES
64411

PrE




BREOFIAFEHIIONT

L 15
ZOBPRERAEK, LUV VOTHTERINTOET,

W=
PRI I3, B E 2L T T,

S BT
REBMRICER N T IERRE., TEXWFALBEORMEEE R LTED T,
ZZITREN-HEBEE BN L TBXBRICASTHDETOT, BAKEOEEK
ICTCZHEXTX3EBBHLET,

REIH
FHRETHEMICEB SN TS K. R REOFEN L TH (Bl <, @idl
Hand L<idlty b TORETIHRTY,

Iy
KR THRICEHENTWBREIEIT vy TY —BRTT, 7. HLOPRB/LET
HITHELFESOR X T BYIZIRD BGTTRETT,

sk ZREIZ807887 1" Arvh-byMI B ENE T,

@ 121 ¥y V- NI BT E T,

A EREIZ80791 N AT AN -d-h-FoMI B ENE T,
® SBEIZ807600 7741 Ay bty M B E N E T,

HBEBSIINROEY, FETLILRHDET, BRAMBRETTRBESETOHE
* CHERRR AV E T,
()
Part No. List Price Description Dispo. Code
93440 130 Use94712 C

(ZDBAIBMOD LM BEBIZMTI2ICEE SN2 Z L A4R L E T, & LISMA0DERE H
b, ThAEBELTHERL, FEITVIBAM7I2EFHL ET,)



PARTS LIST FOR THE YANASE SNOW-THROWER

TIPS FOR USING THIS PARTS LIST

1. STRUCTURE
This Parts List has two sections: Body Parts and Engine Parts.

2. NOTES
General standards, name, etc. are described in this column.

3. ORDER-UNIT
The number listed here indicates the number of individual parts prepackaged together.
Because of the prepackaging, parts must be ordered in multiples of this number. For
example, if the number indicatedis 5, but you want to order 7 units, then you are
requested to order 2 sets of 5 parts or 10 parts.

4. STANDARD PROCESSING TIME
This number indicates the amount of time required for parts to be replaced.

5. ENGINE

If the figure is surrounded by a frame, assembly is required. Only parts given an index
number can be individually ordered. Other parts may be ordered only as parts of sets
and kits. Therefore, parts marked with:
sk are included in the Gasket Set #807887;
@ are included in the Carburetor Kit #121;
A are included in the Valve Overhaul Kit #807910;
@ are included in the Breather-Gasket Set #807688.
Notice: Parts numbers may be changed without notice. Please confirm all parts numbers
when placing orders. Some number changes will be indicated within the parts list as
follows:

Part No. List Price Description Dispo.Code

93440 130 Use 94712 C

Here, the part number has been changed from 93440 to 94712. Parts listed as 93440 will
be available as long as supplies last. Parts listed under 94712 will then be supplied.




11-18HST

1996
Parts List




r— D

Z: Y.
Body Parts

644 1]

Top
I>9>°7V—A% .................................... 2~5
Engine & Frame
ay h[]'—-)bEB ............................................. 6~11
Levers & Links
7]'—75‘3“/:/3‘/35 ....................................... 12~13
Auger Mission
;J-_jj‘. 7.D'7§.‘B .......................................... 14~17
Auger & Blower
¢/ 2 — |\ gB ................................................... 1 8~19
Chute
iEf?gfﬁggﬁ ................................................... 20~23
Transmission
‘;EIEEEB ......................................................... 24~27
Hydraulic System
BIN— c FFEFTT L —LER creevrrrrieniiiiiiiii. 28 ~31
Frame-driving & Covers
'%QEEB ......................................................... 32~35
Electrical Equipment
Z 7_- W 7_7 gB ................................................... 36~37
Stickers

1996. 9



644 I T2 TL—LE

22‘3 25 g—28
; 26
27 7 46
20—ty IS N g

1996.9

v*t 11-18HST



I T - TJL—LE 644

RiNo.| B &% F 5 ® & E N ) % B % | REHA | EHTHK
1 | 061—1110 A4V TL—A 1 4.0
2 | 064—7101 B&ST VUV EFN350447(18HP)| 1
3 | 061—7110 TVVYS—Y 1
4 | 941—2394 AT R — (Wif) 1/4X1,/4X62 1
5 | 009—0480 IV RSV — b 1
6 | 801—1252 AAEL N (7B 241L,7444) | 3/8—24UNFX20 1 5
7 | 926—1208 NS M10 17 5
8 | 058—7120 FLvyFa—7 1
9 | 009—0971 FLyFa—-TFyr 97 1

10 | 061—7120 ~JL X 2 0.2
11 | 801—1257 ANARNL b (277 H 3 241L,717%) | 5/16—24UNFX20 | 2 5
12 | 926—1206 NS M8 26 5
13 | 061—7130 IV HIN— 1

14 | 913—3207 VA2 WAy i b P M6X12 1 5
15 2IIFILVYAR Yo vER 1

16 NEAIL b IV VERS 2

17 | 812—1012 VLT Yy WF12 1

18 | 061—7152 o S AR VA R HNo.19~28& 1 1.8
19 | 061—7152—1 | B¥la v 2 1

20 | 255—2440 = AVARVE 7 1

21 | 255—2420 g 1

22 | 901—2016 ANAAL b M6X16 7 5
23 | 812—1006 I Ay BRI WF6 4 5
24 | 061—7152—3 | X bL—F 1

25 | 255—2450 I STV A 1

26 | 061—7152—4 | BBy —v 1 0.2
27 | 061—7152—5 | Ta89Fy (BRI —Y) 1

28 |908—1214 R R=AC D B A M4X12 5 5
29 | 061—7170—1 | BBFE—2 (8o —=7 4 L 5&) 430¢ 1

30 | 061—7171—2 | BBHK—X (74 4>V V) | 9500 1

31 | 836—1012 b GL OV 12 4

32 | 061—1140 Rylr =73y b 1

33 | 902—4033 N ASFARIL b M8X20(8T) 14 5
34 | 902—4052 INEFS AR b M10X20(8T) 5 5
35 | 929—2206 SRS M10 5

36 | 061—1220 Ny FIE 1

37 | 902—4054 INEFS AL b M10X30(8T) 5 5
38 | 061—3760 Ty vs (B HN—H) 1

39 | 028—1910 HIV VT4 NE 1

40 | 916—1204 AT o b M6 10 5
41 | 902—4032 INE S EA L b M8X 16(8T) 4 5
42 | 916—5205 MESAT v b M8 6 5
43 | 916—5206 NSy b M10 6 5
44 | 061—3023 BEg~y v b () 1

45 | 053—3840 INES AL b M10X135 2 5
46 | 061—3012 #EgE~y v b (f) 1

47 | 901—2015 ANAARL b M6X12 1 5
48 | 929—2205 R 3 M8 10

49 | 926—1204 NS M6 16 5
50 | 061—1271 AR 1

1996.9



644 I T2 - TL—LHEB

22 25@
oD 2
!

"”"h 11-18HST | 1996. 9



I T —LE 644

HiiNo.| B R & 5 s & ™ 1% H B | RN IEE TR
51 | 902—4053 INES AL b M10X 25(8T) 5 5
52 | 061—3710 av o6 (hH) 1
53 | 902—2032 NESFA L b M8X16 2 5
54 | 929—4204 S (K1E) M6 4 5
55 | 061—3720 avra (F) 1
56 | 061—3730 B OBART — 1
57 | 061—3750 "2 HIN— 1
58 | 050—2290 Btk = & 4
59 | 902—4038 N AL b M8X45(8T) 4 5
60 | 061—8231 i (%) 1
61 | 061—8241 X (AH) 1
62 | 061—7140 NI R HS— 1
63 | 901—4016 AR b M6X16(8T) 4 5
64 | 926—1207 INIHESE 3/8 1 5
65 | 929—2204 YRS M6 1

1996. 9



644 > hO—JLEP

1996. 9

t*t 11-18HST



O hA—ILE 644

RHiNo.| B W & 5 B & EZI % o fEE |REHL | SR TR
1 | 061—3103 R 1 1.0
2 | 061—3122 BER/ 21 1 0.7
3 | 913—3608 75 v IANARLEF (B) 2—M6X16(7T) 12 5
4 | 058—3110 T L 4
5 | 908—1214 BB ACE B/ SaVI > 7 M4X12 4 5
6 | 061—3150 L L IAE P 1 0.5
7 | 926—1204 IS 3RS M6 3 5
8 |916—1204 ANAF b M6 3 5
9 | 061—3880 BT %7 — 4 1

10 | 930—0243 "y 4X 40 1 10

11 | 913—3307 73R AALE (B) 2—M6X12 4 5

12 | 050—4131 vy H— 1 0.2
13 | 803—0227 VAV VAS B 2 S M8X20 2 5

14 | 061—3160 Ya—bEFLIN— 1 0.3
15 | 706—1210 A7) v 1

16 | 929—2206 S M10 5

17 | 806—7204 INESAUT v b M10 4 5

18 | 822—2305 B ERE) R) 12 2 0.1
19 | 061—3040 HAF YT 9FRAT — 1

20 | 901—4017 ANARNL b M6X20(8T) 4 5

21 | 061—3220 H$ARNTTyFLIN— 2 0.3
22 | 061—3230 U AT 1 0.7
23 | 902—2033 NS AROL b M8X 20 4 5

24 | 926—1206 INFHESE MS8 5 5

25 | 916—5205 INESAT v b M8 4 5

26 | 822—1302 B (BE) 12 2 0.1
27 | 061—3240 H4 ¥y 59FT7 -4 (F) 1 0.7
28 | 061—3250 $4 K257 9FT7— 40 (K) 1 0.7
29 | 929—2209 WS M16 2

30 | 930—0241 ey 4X32 2 10

31 |931—1117 2T Sy 3X25 1 5

32 | 931—1132 SRV N 5X25 2 5

33 | 061—3271 Oy F (#4259 F) 2

34 | 061—3280 ZLE R 2 0.3
35 | 916—6205 INEAF v b (3FE) M8 2 5

36 | 824—1209 BEfT Y v 6X20 2 5

37 | 929—2204 SERE S Mé6 4

38 | 930—0208 HY 2X 16 5 10

39 | 705—5255 AV 2

40 | 069—3310 LYK R b (BH) 1

41 | 828—1260 Twia Sy 2 XA8N) 12X14X12 2

42 | 069—3320 LoNx—KA b GEF) 1

43 | 828—1206 Tyva Sy AEN) 12X 14X 20 1

44 | 929—2207 SRS M12 4 5

45 | 930—0228 ay 3.2X20 3 10

46 | 069—3290 L IN— 1

47 | 069—3210 EFFY 79 FLI8— 1

48 | 927—3108 X5ith I.—10 2

49 | 929—2206 SRS M10 2

50 | 916—5206 INESAET v b M10 2 5

1996.9



644 2> hO—JLER

1996.9

'b*t 11-18HST



OY hA—JLEE 644

RiiNo.| & & & 5 ®mooR % K 1 23 % | BB | EETHK
51 | 916—6206 INER T Y b (3F) M10 2 S
52 | 058—3430 HF— 1
53 | 061—3390 0y K2 (FEH) 1
54 | 916—5205L INESRATF Y b (ERD) MSL 2 5
55 | 040—1660 g2—VISy o 1
56 | 061—3330 FERT—L (Iy¥aV) 1
57 | 910—3120 SNARKGHERY (FH %) M8X16 1 5
58 | 901—4019 NAEFRNL b M6X30(8T) 1 5
59 | 061—3340 RV | gl 1
60 | 828—1297 FTova UNyZ A EL) 30X34X12 1
61 | 938—1367 Y N ) IV 62627 1
62 | 705—3225 VR 1
63 | 061—3350 ep 7 AR 1
64 | 061—3361 BIEET — & 1
65 | 061—3381 My F 1
66 | 916—5205 NESNHETF Y b M8 6 5
67 | 835—2555 vy Fxv F (LK) M8X1.25 2
68 | 926—1206 IN PR M8 2 5
69 | 061—3411 BIEED » F 1
70 | 835—1455L Oy FLY F(TAEAZDNESXY)| 8—M8LX1.25 1
71 | 902—2034 INEAfAL b M8X 25 1 5
72 | 061—3430 LN—-FEa .y F 1
73 | 916—1204 NETF v b M6 4 5
74 | 835—2554 vy Py F (LK) M6X1 2
75 | 926—1204 INFHEE M6 2 5
76 | 061—3441B FE B 2
77 | 061—3650 JYsvav7L—t 1
78 | 061—3441 LN—HET — 4 1
79 | 005—4540 + 3N FEE 2 5
80 | 806—3205 F4arFy b M12 1 5
81 | 061—3461 AT 5 r v b 1
82 | 902—4572 INESS FAROL b M12(P1.5) X25(8T) 2 5
83 | 926—1209 INI S M12 2 5
84 | 902—4035 INEA AL b M8X30(8T) 1 5
85 | 061—3860 Hsdh BFE 7L —%) 1
86 | 929—2207 SERES M12 2
87 | 061—3480 A —H2FyFLIN— 1 0.3
88 | 828—2192 TS5V T A 12X14(20X1) X21 1
89 | 929—2205 SR M8 3 5
90 | 930—0228 1<% 3.2X20 7 10
91 | 053—3330L FEAY v HT—b () A—HA 1
92 | 828—2112 T3V VT yva 12X 14(20X1) X 16 1
93 | 053—3340 VIR B AV 1
94 | 061—3500 A —=HoIT9FI4Y 1 0.5
95 | 824—1295 GEfE v 8% 18 1 5
96 | 061—3510 29y ML= 1 0.3
97 | 822—6301 #o (F8) 1
98 | 061—3520 AWy FRLLIN=T T4y b 1
99 | 927—3106 x5ith L—8 1 5

100 | 806—8203 INERAFA4aY Ty b M8 1 5

1996. 9



644 3> hO—JLER

't”t 11-18HST A 1996. 9

10



L hO—LER 644

RiiNo.| 3 & & 5 5 o % R ] L fE¥ | REEN | EE T

101 | 901—2004 ANHEEL b M5X16 2 5

102 | 926—1203 INIES M5 2 5

103 | 929—2203 SERE S M5 2

104 | 061—3550 20y b ALTAY 1 0.3
105 | 061—9530 2L INF 2 —T 1

106 | 061—3030 INEASFE L b M10X35 2 5

107 | 601—3050 =TT 42T yFIN— 1 0.3
108 | 711—1101 AT v R 15A 2

109 | 050—4831 ZFGAN Ty v (=TT 40T 9 F) 2

110 | 061—3060 =T F ATy FT—b 1

111 | 061—3071 Edis L —F L5 1 0.2
112 | 822—2302 #o (K B) 12 3

113 | 061—3870 Bfi 7L — oy 1

114 | 931—1124 ZTY) Y 4X25 1 5

115 | 930—0239 "y 4X25 2 10

116 | 255—2230 2LV R 1

117 | 824—2209 gEfT ¥ v 6X20 1 5

118 | 930—0208 £ 2X16 1 10

1996. 9

11



644 #A—FHIvalH

1996. 9

*”.t 11-18HST

12



F—HIvalEl 644

HiiNo.| # & & 5 S A ] B % |RHe | EE T
064—5500 d—H Iy a VTR No.1~37&tr 1.5
1 | 064—5310 Iyvarr—2 1
2 | 064—5130 * — H 1
3 | 941—1319 i ¥ — (HfA) 7X7X40 1
4 | 702—1406 * — ¥y 322 1
5 | 065—5370 N4 2
6 | 938—1126 A=A xXTY 5 6206 2 3.0
7 | 936—1030 & A S—30 2 5
8 | 811—2126 ALY =)L TC305011 2
9 | 702—1401 Yot vEY 112 1
10 | 942—1272 ¥H* - 7X22 1
11 | 702—2210 KRN FE Y 26Z 1
12 | 938—1124 R=ARTY VT 6204 2
13 | 016—6530 Sy F v (r— 2HE) 2
14 | 016—6521 r— AKE 2
15 | 902—2034 INEEA AL b M8X25 16 5
16 | 926—1206 NS M8 16 5
17 | 064—5430 7 — 7 B @l 1 3.0
18 | 016—6550 Yot v Aa L 1
19 | 811—2122 FANY = TC28458 1
20 | 983—1125 H=ARTY VT 6205 2
21 | 936—2052 CEAL A R—52 1 5
22 | 702—2309 INRANJLE Y 142 1
23 | 016—9720 W4 1
24 | 902—2032 INESS AL b M8X 16 1 5
25 | 016—9700 NyFy (Kt A ZNLE) 1
26 | 902—2034 INESS AR b M8X 25 4 5
27 | 926—1206 INF S M8 4 5
28 | 064—6610 Ny F v (r—2L#H) 1
29 | 064—5610 r—2 L#E 1
30 | 901—4017 ANAEARIL b M6X 20(8T) 6 5
31 | 926—1204 INF S M6 6 5
32 | 952—1203 YR T & PT3./8 1
33 | 902—2031 INESS AL b M8X 12 1 5
34 | 812—1008 Ty x WF8 1 5
35 | 902—4053 INEFS AL b M10X25(8T) 1 5
36 | 916—5206 INES ATy b M10 1 5
37 | 941—1114 47 — (i) TXTX22 2
1996. 9

13



644 #F—H - TOTEB

1”'t 11-18HST 1996. 9



F—# 7078 644

RiiNo.| & & & 5 B % K 1 L:3 fE% | Rrbuh | EE TR
1 | 064—4110 *—Hr—2 1 2.0
2 | 916—5206 INE /T o b M10 29 5
3 | 926—1208 IN G M10 30 5
4 | 050—5360 VA 1 0.6
5 | 906—1424 FRALIHA L b M8X 25 (8T) 8 5
6 | 926—1206 NI MS8 22 5
7 | 916—5205 N 7ay: Al M8 22 5
8 | 016—9510 B4 (7L — FH) 8
9 | 061—4211L *— 44— 2R (k) 1 0.9

10 | 061—4211R A =4 r— 2R () 1 0.9
11 | 902—2032 NS AL b M8X 16 14 5

12 | 050—5321 V) 2 0.1
13 | 050—5340 EEEL b (YY) 2

14 | 916—5256 IERET Y b M10 (P1.25) 4 5

15 | 028—5410 H4 Fv—3 2

16 | 916—5206 MES AT v b M10 4 5

17 | 064—5410 A—H3Iyvarvx 1 0.2
18 | 902—4053 INEAS R L b M10X25 (8T) 3 5

19 | 063—4230 R LA T 2

20 | 063—4240 i GREEHIEHRA) Bk 1

21 | 040—1730 T — FE 1

22 | 061—4511 AR B L 1 2.0
23 | 953—2202 VA = ¥ B—PT1,/8 1

24 | 061—4520 TaT AL 1 2.0
25 1 954—0015 X7V YIRSy b AN15 1

26 | 955—0115 YA VEPE AW15 1 5

27 | 064—5110L *— 4 () 1 0.4
28 | 064—5110R * -4 (h) 1 0.4
29 | 065—5120 * —H R 2 1.0
30 | 902—4032 INEFSFRL b M8X16 (8T) 4 5

31 | 709—2111 Ve —FRN b M10X25 2 50 0.1
32 | 064—5420 VA 1

33 | 806—7254 MESAUF v b M10 (P1.25) 4 5

34 | 902—4554 INES AL b M10(P1.25) X308T)| 2 5

35 | 828—1123 Tyva 30X 34X30 4 0.9
36 | 061—5170 d—H AN 2 0.7
37 | 938—1725 i ) IV 6205LLU 2 0.7
38 | 906—3239 FABRAEAR L b M10X30 6 5

39 | 936—2052 CHAL A R—52 2 5

40 | 016—0100 HY—2 ) v 25 2

41 | 058—5210 AL 1 15
42 | 061—5220 VAL 1 3.5
43 | 941—1120 F47F — (L) TXTX45 1 1.5
44 | 941—1221 4% — (i) 7X7TX50 1 15
45 | 902—4052L INESAREL S (EXD) M10LX 20 (8T) 1 5

46 | 009—0480 IV FTL—} 1

47 | 902—4553 INES AL b M10(P1.25)X25@8D)| 2 5

48 | 929—2206 S M10 4

49 | 061—5440 A X — 430X 84 1

50 | 061—5450 2R —H#30X14.5 1

1996. 9

15



644 F—7 - TOTEB

1996. 9

16

.",.t 11-18HST



-4 7078 644

17

HNo.| & & 5 ®OOR % K 4 L2 L | RvEup | e T

51 | 704—8221 V7 -1 10B—3 1 1.5

52 | 831—3343 VAL B LB—43 3 0.5

53 | 902—4056 INESHEEL b M10X40 (8T) 4 5

54 | 926—1208 INF M10 4 5

55 | 926—1208L NIEE (EXxPH) M10L 1 5

56 | 938—1726 R—ARTY VY 6206LLU 2 3.5

57 | 028—5420 Juay bH—F 1

58 | 906—1238 FEAFEAR L b M10X25 8 5

1996. 9



644 21— ¥

1996.9

_h*t 11-18HST

18



~

19

va1— MB 644
HtiNo.| 3 & & 5 H & A i L3 B | RIEEAT | TR
1 | 064—6110 ¥ a—b 1 0.6
2 | 930—0228 "y 3X20 4 10
3 | 929—2205 SEHE S M8 4
4 | 807—1004 N2 WW—38 4 5
5 | 058—6220 t—7F4H—F 1 0.1
6 | 901—4015 AL b M6X12 (8T) 4 5
7 | 926—1204 NS M6 8 5
8 | 916—1204 ANAT Y b M6 8 5
9 | 064—6220 Va—bERyrvTl 1
10 | 061—6210 Ya—bFyy T2 1
11 | 930—0208 ay 2X 16 2 10
12 | 929—2204 SRS M6 1
13 | 009—2200 Ya—bFRyyTTL 2
14 | 061—6230 NI 1
15 | 061—6250 A5 — 2
16 | 061—0730 va— FEUNA 1 0.5
17 | 906—1222 FRATEAR L B M8X 16 4 5
18 | 929—4205 SRS (K1E) MS8 4 5
19 | 926—1206 AP 35 M8 6 5
20 | 916—5205 INEASHET Y b M8 4 5
21 | 002—3040 I 1
22 | 009—0880 va— Mz (F) 1
23 | 061—6241 Ya—bEF74Y 1 0.3
24 | 824—1207 gEft+E v 6X 16 1 5
25 | 061—0850 Sa—boY T 3
26 | 053—4430 Yok — L 852 1 0.2
27 | 906—1238 FARALEER L b M10X25 1 5
28 | 005—1680 Y4 —LFY 1 0.3
29 | 910—4118 NAEREERY (2R 3I%) M8X 12 3 5
30 | 061—4410 @ — LM (V2 — MER) 1
31 | 833—1103 2= H LY g4 Vb 2 0.3
32 | 931—1130 2ATS) T 5X20 4 5
33 | 061—4420 Ny Fll (22— EEED 1 0.4
34 | 821—1001 [ml#xiE b M10 1 0.1
35 | 916—6206 NESAF o b (3FE) M10 1 5
36 | 936—1017 CHEL A i S—17 2 5
37 | 061—4430 Rl (2 o — FEERD 1 0.4
38 | 061—4440 Ca—tHgTy FAXT— 1
39 | 050—5540 Ty 2 0.2
40 | 016—7030 Ny FPLT — 4 1 0.1
41 | 902—4033 INEFS AL b M8X20(8T) 2 5
42 | 061—9540 Ty 250L 1
43 | 705—3249 S I 1
44 | 929—2206 R M10 1
45 | 926—1208 IN TS M10 1 5
46 | 916—5206 INESRF Y b M10 1 5
47 | 929—2207 SEWES: M12 1
48 | 902—4032 INEFS AL b M8X 16(8T) 6 5
49 | 926—1206 IN RS M8 6 5
50 | 929—2205 SERES M8 6
1996. 9



644 ETEES

.‘”.t 11-18HST | 1996. 9

20



EfTZEIRE 644

RiiNo.| # & & 5 I N 1 L4 % | RN | T
1 | 061—1260 EfFIvvav 1 3.0
2 |061—1260—1 | ¥ =TT 7V 1
3 | 061—1260—2 | *4 L4 (HST) 1
4 | 061—1250 NN 2
5 | 902—2033 NEFSFEAIL b M8X20 8 5
6 | 926—1206 INFES M8 13 5
7 | 929—2205 S g M8 6
8 | 061—1320 hy v A 1 0.8
9 | 941—1215 Yird— (Fi) 7TX7X25 1 0.6

10 | 941—1119 A7 - (M) 7X7X40 1 0.5
11 | 902—2032 INEFSFAEIL b M8X 16 1 5

12 | 061—1330 A\ 1 1.5
13 | 910—4124 ANAERTIERY (2K 3I%) M8X 25 2 5

14 | 704—1222 V7—" 55A—1 1 0.5
15 | 058—1360 W4 1

16 | 061—1370 V77— EfFIvvay) 1 0.4
17 | 901—4016 ANHEFL B M6 X 16(8T) 4 5

18 | 926—1204 INF S M6 5 5

19 | 929—4204 Y-S (K1E) M6 4 5

20 | 941—1109 V47 % — (ML) 5X5X28 1

21 | 061—1380 VA 1

22 | 901—4015 2V kY1 o M6X12(8T) 1 5

23 | 902—4050 INESFAL b M8X130(8T) 2 5

24 | 916—5205 INESNFT Y b M8 6 5

25 | 831—1337 VAL b LA—37 1 0.4
26 | 831—1332 VUL b LA—32 1 0.4
27 | 831—1333 VAL b LA—33 1 0.4
28 | 061—1410 FUYavT—bh 1 0.4
29 | 936—1015 & AL S—15 3 5

30 | 061—1420 FYavT—bh 1

31 | 061—1430 N3 2

32 | 705—4241 27 vy 2 0.2
33 | 061—1441 FUYaVT—bh 1 0.5
34 | 936—1017 CELL A tm S—17 1 5

35 | 929—2209 SRS M16 1

36 | 930—0241 "y 4X32 1 10

37 | 715—2673 FryyvayS— IH 061—1450 1 0.5
38 | 938—1723 R=ARTY VY 6203LLU 2 0.5
39 | 705—5247 2T 1

40 | 705—4248 SR IV 1

41 | 061—1460 LS—HK R b 1

42 | 715—1101 FviaryT—1 (45X20) [H 005—1270 3 0.2
43 | 061—1470 F Yo vl 1 0.3
44 | 916—5206 INES AT v b M10 5 5

45 | 926—1208 NG WS M10 5 5

46 | 929—2206 W& M10 2

47 | 929—2207 VR M12 2

48 | 930—0230 " 3X25 2 10

49 | 826—5125 VL7V VERT7TY) sy b | ASPFL205 1 0.5
50 | 058—1120 UEL b 2

1996. 9

21



644 EITIED

1996.9

22

.",.t 11-18HST



ETEES 644

R¥No.| & & 5B i ) 4 7 # = B | REE | U T

51 | 061—1200 RN7Y Y F—F 1

52 | 902—4033 INESHEAEL b M8X20(8T) 2 5

53 | 826—5425 VDL73 v YER7Y &2y + | CSPFL205 1 0.6
54 | 930—0228 | < 3X 20 1 10

55 | 824—1207 g ¥ 6X16 1 5

56 | 930—0208 e[| 27 2X16 1 10

57 | 040—1460 7 v ¥ 210X10 1

58 | 061—1510 A —HTL—FY 4 — 1

59 | 931—1129 2T Y 5X18 1 5

60 | 901—4015 ay: RV M6X12(8T) 1 5

61 | 926—1204 INFRES M6 1 5

62 | 929—2204 SRR Mé 1

1996. 9

23



644 AESR

'b,-t 11-18HST | 1996. 9

24



MESE 644

RiiNo.| & & & 5 ®w & &% W % -3 A% | REHM| EE T
1 | 058—2510 WE Sy r—v 1 1.0
2 | 050—6210 E ) AT = LI T Assy RHiNo3~8& ¢ 1 1.2
3 | 050—6210—1 VA=Y RATY VY 1
4 |050—6210—2 | NLTEHT — 4 1
5 | 050—6210—3 | -1 1
6 | 050—6210—4 | AL THEBT—LT I3 9 b 1
7 | 050—6210—5 | XS v 1
8 | 050—6210—6 | 7av b HIv— 1
9 | 050—6220 L= (HENSLT) 1

10 | 916—6205 INESAT v b (3FE) M8 1 5

11 | 822—1303 By () PEUNS 1

12 | 852—9255—1 | WHHEHR—Z (5500) PFl/4AAY—baztv| 1

13 | 852—9265—1 | WEH—2 (6500) PFl/4ARy—ba=tv| 1

14 | 061—2530—1 | WIEHR—Z (13500) PF1/44 2y —br=tv| 2

15 | 061—2530—2 | WEHR—X (14500) PF1/44Zy— b=ty | 1

16 | 061—2530—3 | WHEHR—Z (16000) PF1/4A2y— b=ty | 1

17 | 851—3206 7ETE (90°) PTXPFAAY—}1/4 4

18 | 851—4106 THTE (45°) PTXPFA 2y —b1/4| 2

19 | 851—8202 TETE (90°) 009 PTXPFAZY—bF1/4 1

20 | 851—8201 THETE (90°) #K D05 PTXPFAZy—F1/4 2

21 | 851—1106 FHATE (AL —}) PTXPFA 2y —11/4| 1

22 | 851—3106 THETE (907) PTXPFA 2y —1b1/4| 1

23 | 061—2610 WEL Y vy (REE) HHiNo.24~32&8t 1 0.5
24 | 061—2610—1 | ¥V v HFFa—7 1

25 | 061—2610—2 | ¥Xbvuaw F 1

26 | 030—0360G 0y FHN— 1

27 | 818—1125 APV =)L SDR—25 1 1.0
28 | 819—1125 = IV AR B4 SKY—25 1

29 | 951—4034 oy vy 1B—P34 2

30 | 028—0370 YA bV 1

31 | 951—3016 oy S16 1

32 | 806—2256 UF v b M14(P1.5) 1

33 | 058—2620 Hegmy Y () 1

34 | 929—2208 R M14 6

35 | 930—0241 HY 4X32 7 10

36 | 058—2630 Hegmy Yy (F) 2

37 | 061—2650 WESY v (u—0 ) R No.38~484 ¢ 1 0.4
38 | 061—2660 VYU RFa—T 1

39 | 061—2670 S/ SN A= I 1

40 | 017—8560—6 | Wy K Hsv— 1

41 | 050—6530 ¥Z by 1

42 | 818—1116 AR —)L SDR—16 1 0.9
43 | 951—5030 oy 1B—G30 1

44 | 951—4016 oy vy 1B—P16 1

45 | 951—4024 oy vy 1B—P24 1

46 | 951—4012 oy vy 1B—P12 1

47 | 806—1205 Ur vt M12 1

48 | 929—2207 R A M12 1

49 | 941—1380 Fir¥ — (liA) 5X5X18 1

50 | 058—1380 V7—Y 4A—1 1 0.5

1996. 9

25



644 HEER

1996. 9

11-18HST
Ire 26



MEER 644

RH#iNo.| M @ & = i S i f4 " A% | REE | B THK

51 | 016—8770 & 1 5
52 | 902—2051 /NS AR b M10X16 1 5
53 | 926—1208 INTEEE M10 1 5
54 | 902—2032 INEAR AL b M8X16 4 5
55 | 926—1206 INT S M8 4 5
56 | 929—2209 g M16 1

57 | 851—4206 THTE (457) PTXPFAZY —}1/4 1

27

1996. 9



644 HIN— - ETT L —LES

1996.9

11-18HST
Pre 28



HIN— - EFTFTT7L—LEE 644

29

RMiNo.| S & & 5 ® M B K 1 L3 % R | AU T8
1 | 061—8102 B SOV 1 0.5
2 | 901—4015 ANAKL b M6X12(8T) 18 5
3 | 061—8130 7L IRF 1
4 | 926—1204 INF S M6 23 5
5 | 061—8121 AV Fy AT — 1
6 | 929—2205 SERES: M8 2
7 | 823—0212 HEY Y 8X1.8 1 5
8 | 061—8151 S VAL 1 1.0
9 | 834—0004 Ay b SAIONG—C 2

10 | 929—2204 SY-E 4 M6 4

11 | 916—1204 ANATF Y b M6 19 5

12 | 834—1001 fsifst o e Xy b SG—12A 2

13 | 061—8162 Ev oy MR () 1 0.7
14 | 913—3607 75 v ofAARLE (B) M6X12(7T) 10 5

15 | 061—8173 AY 3y MR () 1

16 | 061—8180L B Z A — b 21 () 1

17 | 061—8180R fRZ A — b 11 () 1

18 | 061—8200L IR A H— b 12 (F) 1

19 | 061—8200R B2 A — b 2 (F) 1

20 | 061—8210 WihN— 1 1

21 | 913—3308 73V ORANAEL N (B) M6X16 2 5

22 | 834—0007 yuaxy b SAIONG—] 1

23 | 061—8220 BiHIN— 12 1 0.3
24 | 061—8500 AR 1

25 | 916—1204 NAET b M6 2 5

26 | 908—1236 FhE Y M6X12 2 5

27 | 926—1204 IN T ESE M6 2 5

28 | 061—8400 SN VAT VAR, L) ) 1

29 | 061—8410 Ty AIN— 1

30 | 901—2016 ANAEFIL b M6X16 3 5

31 | 061—2111 FF7L—4 1 3.0
32 | 929—2209 Erig M16 6

33 | 918—4209 INBER ST o b (T8 ER) M16 8 5

34 | 930—0241 " 4X32 8 10

35 | 050—1200L ra—35vav (k) 1

36 | 050—1200R sua—-355viay () 1

37 | 056—2540 T30 2

38 | 927—3106 11| VAR L—8 1

39 | 901—8901 FyvavELE (BFY) M16X150(8T) 2 5

40 | 916—1209 NETF o b M16 2 5

41 | 058—2230 FfFxTay o b (TL77H) 2 0.6
42 | 061—2210 W4 2 5

43 |926—1212 INF S M16 2 5

44 | 030—0160 74 K3 4 0.7
45 | 938—1724 R=ARTY Y 6204LLU 12 0.7
46 | 030—0170 by ra—3 2 0.7
47 | 252—0350 e 12 5

48 | 063—2240 THArU—TF 2 0.5
49 | 063—2410 T AN — R 2

50 | 902—4075 INEASHEEL b M12X40(8T) 4 5

1996.




644 HIN— - FEFTTL—LE

1996. 9

11-18HST
Prt 30



HIN— - FFTTI7L—LEE 644

BiiNo.| B R &5 ® W & ] 23 A% | RibHL | T

51 | 712—1101 T8V F 2

52 | 926—1209 NS M12 4 5
53 | 916—5207 NSy b Mi2 4 5
54 | 953—3202 ) =Xz gy TN C—PT1/8 2

55 | 040—2670 A2 E&H 2

56 | 908—1213 +FIRAF BN F Y M4X10 2 5
57 | 926—1202 INF S M4 2 5
58 | 916—1202 AAT v b M4 2 5
59 | 053—9110 Kb 1

60 | 913—3507 AZZZ b Ay b P M6X12(7T) 4 5
61 | 913—3207 735 v ORASNHEL b M6X12 3 5
62 | 901—2015 ANALL b M6X12 2 5
63 | 916—5205 INEAETF Y b M8 2 5

31

1996. 9



644 B

j /@f?

-7 52 5857

‘A'E W

U=

Ag-bAfwF  Ea=X AL AN #G95y EALr- A=A 3R
T4 AL wF VT FLn= BU 95vF £-IF4
A vF AL wF  LN- A v F

A1vF
=3

0
1 1
BAT[IG [ST[ BT E
@ © g
Fo 2 11 O
- 1 | 2 [
N7y Ry—H A1y FHAR

ITEy PR F

'b*t 11-18HST 1996. 9

32



BEB 644

33

RiNo.| H & & 5 BB & W 1 L3 A% | RiLEL | EE T
1 | 061—9402 BOR N — % R 1 1.0
2 | 061—9551 a—-F (H) A4 LP.SW 1
3 | 061—9420 2 —3IF N (LLE) 1
4 | 061—9430 2—3IF A (+) 1
5 | 061—9441 2= 3IF A (—) 1
6 | 753—8301 Ny FYE—-3IFN (+) PE—1 1
7 | 753—8401 ISyFYE—IFN (=) p—n 1
8 | 753—1002 Ny F) 36B20L(NS40ZL) 1
9 | 751—1001 253y bAA 9 F 1 0.3

10 | 752—1002 IVV VAL v F 1 0.3
11 | 752—1002K IV VF— 1

12 | 050—7431 54 MAA v F 1 0.2
13 | 061—9451 N4ay b3V 1

14 | 050—7420 74 b R HNo.30, 3151 2 0.2
15 | 061—9560 a—F:1(#) 74+t 1

16 | 757—1020 ka—X 20A 1

17 | 061—9481 Ea—X Ky oA 1 0.2
18 | 061—9570 a-F:2 (#) 74249 F 1

19 | 061—1240 Ny F YA R b 2

20 | 921—1204 75 v IoRAAT v b M6 2 5

21 | 058—1130 TNy FY Sy TY) 1

22 | 061—1280 Ny F I 1

23 | 061—3740 Fa—74% 1

24 | 901—2016 ANAEL b M6X 16 2 5

25 | 926—1204 INF RS M6 2 5

26 | 916—1204 Ny b M6 2 5

27 | 902—2033 INEA AL b M8X20 2 5

28 | 926—1206 NS M8 3 5

29 | 752—1004—2 | TV Y VAL yFHIN— 1

30 | 050—7420—1 | 94 PL VX Sy FUAF) 2 0.2
31 | 050—7420—2 | &Ik 2 0.2
32 | 928—2205 A} BRI bR (< IE 42 M8 2

33 | 061—9462 t—TF 4 AL 9F 3

34 | 061—9463—2 | H#R GEfF2 79 F) 1

35 | 061—9463—3 | Aoy (B#L/3-) 1

36 | 061—9200 24 wFT Iy b GEF) 1

37 | 061—9181 24 9 F T 9 b (hLFE) 1

38 | 061—9463—4 | F#R (X—H 27 v F) 1

39 | 061—9210 24 9 FT Iy b (X—FH) 1

40 | 908—1217 e A YA M4X25 6 5

41 | 929—2202 SERES M4 6

42 | 901—2016 AL b M6X16 6 5

43 | 926—1204 NS M6 6 5

44 | 929—2204 SEWEE M6 6

45 | 902—4033 INEA AL b M8X 20(8T) 1 5

46 | 929—2205 SERE S M8 1

47 | 754—1108 BlikxRE—75F 1 24 9 F 1

48 | 061—9250 CAYLV— 1

49 | 901—2016 ANAEAL b M6X16 1 5

50 | 926—1204 NG M6 1 5

1996. 9



644

B

ETT 5y KRLI— A=K
FLi~ YL
A wF RLv¥F

(ol

Ub_

IS5 vF
vig—
A{s%

|
|
ol

0
‘_ﬁ 1 :
@ =) BAT! IG | ST B | E
EAE-5~ N 2 1 1 OO0 >
= 2 | OO

TSRy bR F

vy R —5AA v FHHE

.‘,’.t 11-18HST

1996. 9
34



BRES 644

5HiNo. BRES B i A i B | RiEEN | M= T

51 | 929—2204 S g M6 1

52 | 061—9520 Aof¥ 2 (6H) 14

53 | 061—9510 Ao 2 (8H) 6

54 | 902—2032 INEFSFEL b M8X 16 2 5
55 | 926—1206 NI S M8 2 5
56 | 916—5205 INEFSHT v b M8 2 5
57 | 901—2015 ANEEL b M6X12 7 5
58 | 926—1204 INIRES Mé6 7 5

1996. 9

35



644 X7 v HER

1996.9

11-18HST
i | 36



ATy hHEE 644

RiiNo.| & F 5 ¥ & EZ (B RN | EE TR
S9999—6440 ATy h—
1 | 064—8130 A7y h (BX - &) (B) () 2
2 | 050—8140 25w # (YANASE) 1
3 | E000040 &I~ (#G) 1
4 | E000041 HINN (77 7 ER) 1
5 | S9999—0003 HI N (fafrFtE) 1
6 | S9999—0021 Iy~ (GEEER) 1
7 | S9999—0006 HINNL (RED-BDID) 1
8 | S9999—0007 HEIRN (H35=) 1
9 | S9999—0008 Ho~n (P 7L —%*) 1
10 | S9999—0009 BN (G —HfER~—2) 1
11 | S9999—0010 L3N (Tuvfaglg~—2) 1
12 | $9999—0016 HI A (FER S —HE) 1
13 A5y A(Aay FL) 1
14 AF 9N (X—=HI T 9vF) 1
15 A7y h(F4 K805 9F) 1
16 27w h (2=t LETF) 1
17 AT 9N (ZA 9 F) 1
18 27y A (HEV/-) 1
19 25y H (€ 2 — X20A) 1
20 2Ty H (BH#) 1
21 27y A GET) 1
22 AT v h (BEE 7L —F) 1
23 25y A (BLHESEIR) 1
24 257w 5 (EX 4 LBHRER) 1
25 ZF 9 H (L7 2 —FBERER) 1
26 25y h (v —2) 2
27 25 v h (BlIkRE—TF 4 AL 9 F) 1
28 A5y A (¥ 2 — MEEME) 1
29 257y B (N h—B) 1
30 25y A (RoERE) 1

37

1996. 9






IV
Engine Parts

Model 350447 Type 1184—A1

Top
t/ U ‘/ﬁEB ................................................... 40~41
Cylinder
T =X HIN—FR covereeencennanniiiiiniiiii 42~43
Crankcase Cover
D) ANy RER creeereeeneencniiiiiiiiiiiiiiiii, 44~45
Cylinder Head
;\—,,\_, 7“[/51::115 ................................................ 46~47
Carburetor
I777U—-j'§|§ ............................................. 48~49
Air Cleaner
%ggg ......................................................... 50~51
Electrical Equipment
9*%%5%% ...................................................... 52~53
Blower Housing
<7 5 gB ...................................................... 54~55
Muffler
;(19'—'f7:E'—'Gz§E .......................................... 56~57
Starting Motor
7‘_—,2/}-/ }"t{j I\ .......................................... 58~59
Gasket Set
T BIN— Y ceereeiiiiiiiii e 60~61
Kit Parts

39

1996. 9



644 VU LHE

BRTEEATWAIRIZRT v TUBKTT,
S ENER (IS 7= > THEHELAFLETT,

1996. 9

11-18HST
e .



V) HE8 644

RtiNo.| B & & 5 s & i L A% | REHL| ST
1 807786 | ¥)v4" Assy 1 3.8
2 807687 | W& -7 wyuy” 1 45
3 * 805101 | A4ny-h 1 4.0
15 805048 | AWM VYT 5Y 1 0.1
15A S058-7120| A Wb VY - #1-7" AN -y 1
15B S009-0971 | A4ANN Vv -#4y7° AN -y 1
15C S812-1012| A Wb V- Y-k AN - 1
16 807778 | 13/9v4 7k 1 25
13047 B4 ¥ TR A R T BB
1394196 & 807625 A3AN vy & ZHESL
FEN
17 805754 | & -h-ATTYY” 1
24 805016 | 794%4-h % 1
25 807888 | t° Ak Assy(STD) 2 @1.6

807991 t* bV Assy

(0.254mm 1-n"-#427)
807992 t° Abv Assy

(0.508mm #-n"-#427)
807993 t° AL Assy

(0.762mm *-N" -#17)
26 807889 |4 -tyMSTD) 2 @14
807994 [ V4 -tk

0.254mm 1-N" -¥417)
807995 UVZARE 218

(0.508mm #£-)"-#427)
807996 UVZAR £7)

(0.762mm #-N"-#427)

27 805099 ¥°AR/E v byd 4
28 807886 |t Abv by (RFVET-}T) 2
29 807900 | Ir74v4” -uyh 2 @1.7
807803 | I#r74v4” -uyh
(0.508mm 74" ~#42")
32 805395 | 241 4
45 805354 | NTHTT-HA° b 4
46 807542 | na-¥"7 1 0.8
572 805197 | 7741970 1
718 805103 | 79v97-A-F 1L 1
741 805675 | %4y %77 1
1025 805313 | A" NH-RT°-N 1
* SR BE807887 1" Ay b M ENE T,
C Y2 2= VAR SVAZEEPINME & 3 (I & o
A EBEAEES07910 N AT AN k- M CHENET,
D HEEE807688 77 )4 T Aryh-yMIBENE T,
MRk BTHEL DR Ty TUBRELVET, 1996. 9

41



644 V72V —AHIN—H

BRTEREATVWIRARRT v TVEBRTY,
AENER BT > THHRIRYLETT,

t*t 11-18HST 1996. 9

42



95290 —AHhIN—88 644

RitNo.| B R &F 5 5 Mm E i L4 B | RN | T
12 % 805112 | 7909721 R¥yh 1
18 807628 | 4302 HN - 1 08
UToHREED:
805054 7N Fy¥Thy-b
20 % 805049 | #4hY-1 1
22 805652 | A7V1 9
39 805654 | A4n-7" 47144 1
87 % 805054 | AN FUATR-V-M 1
116 % 805198 |O V4 -v-h 1
116A % 805058 |OVU¥y -v-k 9
4Nk v7° Fl)
116B * 805316 |OUvy -v-b 1
& 91797 $2-7" H)
166 805073 | N 3477249k 1
188 805247 | #1-7 EEEAIY1 1
189 805449 | uyy-Tyvt 1
201 805480 [ ATNF-Yvy 1
209 805460 | 2N A7y 1
209A 805453 | # N -YNTAN WA Yy 1
227 807528 | A" VN -Assy 1
232 805465 | Vvy-27°Wo” 1
239 491657 | MM Vyvy - 24y 1
243 807598 | MK 927yT° - AHY-Y 1
277 805018 | A&y R A MR- Tyvy 1
305 805406 | 7 47V AN 2
523 807585 | #4n7(h-Fyy7’ 1
524 * 805259 | 74MF1-T VN 1
525 807584 | AANT4N-$1-7" 1
552 805412 | AW FuaTR- T vy 1
552A 805413 | "N HA TN wvuy” 1
562 805381 | *¥)1yy A MR 1
592 805383 | Fvhb 1
614 805417 |avs-¥’ v 1 1.0
616 807596 | #1742 1
634 % 805416 | # N Ti-7- Ty 1
819 805057 | #nt v7° BEEAY: 2
823 805317 | & v77y7" A0)-YEE A2 2
842 % 805386 | *¥tv7° -v-b 1
978 % 805250 |74 7741 Arvb 1
982 805030 | 74" 7 4REAYY 2 )
1024 807664 | A4n-% v 1 1.0
1027 492932 | AN 7408 1 0.1
1028 805292 | 74M-78° 704 1 0.2
* ERELEE807887 1 Ay k- yMIEEhE T,
O KMBES121 3+7° V- By MNZB T ET,
A EEREEL07910 N A7 AN -A-b-F M ITEENE T,
O S ES807688 77 -4 aAbyb- by B ENRE T,
g B TCEENAHDORT v TVBSRELYET, 1996. 9

43



644 VN FEB

BRTEHEENATWASBRR7 v TVEBRTT,
K ENER L IEIfHC Y - » THHRIEYDETT,

v*t 11-18HST 1996. 9

a4



SNy RE 644

RM#No.| B & & 5 s % ®& 1% L3 (E% | REWA| T K
5 808383 Y8 A9k Assy No.l 1 1.0
5A 808384 Y)va” -Ay R Assy No.2 1 1.0
7| %A 806086 YT Ay N AT Ay b 2
13 805097 UVZAECTY VDB 8
21 491832 KNI 45--7° 30" 1
33 807681 AEVAES SN YA 2 @1.2
34 807680 AVF=9-Nh7° 2 @1.2
35 805937 I YARY VAR VA 4
40 805092 N7 Y71 2
42 807683 NV YTt 2
50 805409 AVF-5-22RNE 1 1.0
51 * 805024 4v5=9-% Aryb 2
52 | %A 805023 A5 Ay b 2
53 805466 ¥y7  VAEIREAY 2 2
54 805006 £y5-472k=-0 N BEAY 2 4
122 805328 EIVARY B LN | 2
166A 806037 OyA7-h- ¥y h 4
167 | * A 805420 N AT AN ==k Ty 4
171 A 805019 Oy -tyh 4
192 807623 N7 SRS 2 N7 SRS RE0.7 4 0.5
222 808195 Fyha-h-7" Fryb 1
265 221535 VYV ARY L Vy 1
307 805025 ayha-L7" Iy b A2 3
337 491055 AN =477 55" 9
351 805169 K=y 9397° - A1 1
524A | * A 271983 T4NT° 957 =D 1
635 805529 AN =177 58777 =Y 2
868 805094 NI HAN V=R 2 1.7
871 805084 BAR T vy 2 1.8
915 805083 K -b-94F- 2
1022 | * A 806039 Oyppn =4 Aryb 2 0.2
1023 805100 Uyh- AN - 1
1023A 805842 oyh AN - 1
1026 805352 7% 9y1 -y (AF-nEY) 2 0.7
805617 7°yy1-ay N (THIEY) 2 0.7
¥y -AMAlZ O A fEH
1029 806036 Uy 7-b 4 0.8
1100 806038 Ty h7-h-N 40yh 4
* HmE 5807887 4 Aokt MIEENE T,
O NEE2121 517 V8- TyMNZEEhE T,
A ERBE07910 N7 =N -F-b-Fy M ICEENE T,
O EBRES807688 77U 4 Ay yMIEENE T,
Mg B TEEREBDRT v TUBRELVET, ' 1996. 9

45



644 F+JL 2EB

125

601

788

BTEEhTVWIRRKLT7y £ TVBRTT,
KNSR BRI o » THERIRPLETT,

601

"’,‘t 11-18HST

46

1996. 9



v 7L A% 644

RiiNo.| B R F 5 B & #& K ] 3 B |RIEHL | R I
51 * 805700 Av5=2 0" Ay b ¥v7 V-0 -F-K1.5 1
91 808396 Tyl k"7 1Assy 1 0.5
95 805538 A0yFR 01 4
98 808177 | Amyhn-FEEAYY 1 1
102 | @ 805541 | %47 VEATT T4 4 Aryb 1 05
103 805546 ¥y77Va - 7u-h 1
104 @ 805545 | 7m-heyyT kT Y 1
105 @ 805547 SRR 2N VA 1
108 806134 F3-4-N AT 1
110A @ 806137 JVIAR D9y 2
117 @ 806126 | AV ¥ 1vb 1 1.2
118 @ 808399 TAN - BN LT 1
119 805540 79w &5 - B A 2 4
125 808370 | #+7° V¥ Assy 1 1.0
130 806132 Ay RN V7T 1
131 808397 Ay bl -7k 1
141 808398 Fa-9-v47h 1
142 @ 806128 | ¥+ VEJATH 1
187 296004 711547 1
(BEIZB U TY » TER)
187A 398367 VER AR 1
(MIL#)
216 805439 Fa=2-Vry 1
240A 493629 T1Il-T4ME 1
265 221535 | r-vv4 9307 1
271 807609 Fa-hayba--bN - 1
307 805025 E Ny AT O X U1 B 2
351 805169 W= 9307 291 1
387 491922 | 7:10-%° 7 1
601 93053 F=R-4577° 6
634A @ 806131 | AHy RN AT~ 1
788 807685 A M AL £ 1
823 805317 2 V7 BEEAY 2 )
947 807664 | 7aLh VAR 1
1091 805862 V3ivd-$y97° 1
* B E807887 1 Arvb-tyMI A ENE T,
O NEBES121 317 V- Bz EhET,
A HEEE807910 VM AN —R-b R M IZEERET,
O BB E807688 77 V-4 # Ay b- NI B ENE T,
b B TEEAAEBDORT v TVBRELEVET, 1996. 9

47



644 IT7 V') —F8EB

BTEEATVWARRR7 v TVEBETY,
WENERGR L BUHC Y /- > THHRIRVPLERTT,

t’t 11-18HST 1996. 9

48



I77YV—FE 644

HHiNo.| W & = ® & % W ] L: 3 fE% | BB | ERETH
8 807795 | 7°Y-#" Assy 1 0.3
9 * O VAL T A U 1 1
v b A DIRFE)
10 805751 | 77 V-4 REE 222 1
11 805362 | 7°YU-4 27 1
161 807857 | 177)-}-A"-2 1
305 805406 | 172)-1A" -2 241 5
445 394018 | 17-7404 1 0.1
467 491875 | 17)-tan -7 1
535 272490 | 17-74M 1
537 % 805655 | I74V-1-4" Aryh 1
642 807862 | 172U~} hn - 1
643 805631 | 172Y-}-)7-+ 1
722A * @ VAR 1
&y hD ADARFE)
819 805057 | ¥+7 VEY-IN 221 2
862 807796 | #V-1BUF ARG y7° 1
1004 805632 | 17-%4h 1
1014 807797 | %7 Vva-v-AE 1
* SRAHEE807887 1 Arvh-tyMIEENE T,
O NME2121 37 V- 9Nz EENE T,
A EPRBEELOTINON VT A-N -k-b-Fyh IR ENRE T,
O HEHE 807688 77 -4 Aryb- M B EhE T,
MERh B THEENZDDRT7 v TVBREENET, 1996. 9

49



644 TiRRER

7298
1054 N7
— ()
® - 1009 356

985

520
353 Q @
354A @

BRTEEThTWABRR7 vt TUVBRTY,
wENER R I B C g - > THIRYVETT,

11-18HST | 1996. 9
50




BRE 644

RiiNo.| 3 B & B B % % ] o (B | RIEHAL | T8
23 808132 | 794%4-1 1 0.6
332 805021 | 794k4-N-Fyh 1
333 492341 |2 Ryb- 79417 2 @0.3
334 805407 | A7 RUMMEEAY) 2 8
353 92791 0y -Tyyy 1
354A 90576 2-3th-Fyk 1
356 493792 | 47 I/8 4% 1 0.5
474 393295 V-4 1 1.0
501 394890 | V¥ il¥ 1 0.1
520 93722 231 1
526 805448 | V& 1VAEERE - 201 ¥NTEIE VYT AN 1 2
726 807805 |V -¥7 1 1.2
729A 805641 |4 mwayk 2
729B 280470 | 74Y- 2y’ 1
851 221798 | r-7"ha-3t0 2
878A 393422 | ARER-F-N-RA 1
1005 808082 | 794&4=N- Ty 1
1006 224413 | 777974 1
1009 270723 | 777054 1
1054 280275 | r-7"h-24 1

% P FS807887 1 Ak tyMI B ENE T,

O HNMBEL121 57 V- BN EENET,

A EPEBEEB07IION AT A-N-h-b-Bh IZHF TN E T,
D PHEEL07688 7 )4 1 Ak oMz E TN I T,

Efgch B CEE A LORT v TUBRELNET, 1996. 9
51



644 SRR

BRTEEhTUWI3BRR7 v TUBRTT,
S ENERE A BFHC Y - > THH IRV LETT,

1996. 9

v*t 11-18HST

52



SERE 644

RtiNo.| H & & 5 B M@ % BB | R | BT
55 808086 TIAH4=N N - 1 0.1
65 805406 TIARL=WAN = 291 4
304 808220 VAR VRN VA2 1 0.6
305 805406 | 7 uunvy vt BUSHN =291 17
306 807661 ITH AN AN - 1
307 805025 77 eIy T B AN 1 2
373 805383 PR AN BET b 1
423 805260 AE=5IN = A4 1
478 805636 AVRINAV RN R 1
526 805448 I7H AN BEAIY 2 1
573 807663 N 947" V-FAssy 1 1.0
657 805009 | M AMEIREAYY 9
727 805505 AR=% AN - 1
865 807870 I7TH AN AN - 1 0.7
(No.1¥Yv4" i)
865B 807871 ITH AN AN - 1 0.7
No.2¥)/5" )
866 807660 LTH AN AN - 1 09
* HREE807887 1 Ay tybMIEENE T,
O XEES121 517 V- + NI EhET,
A EBRBEE807910 N AT A-N M-y MICEEh E T,
O e E807688 77 V-4 p ATy M-y MIEEFh T,
MRk B TEHEN-HBNRT v TVBRELVET, 1996. 9

53



644 TSR

676

346

BTEThTWVWAIBRI7 v 2> TVEBRTYT,
FENER SR LB Y 1= » THBELIRILERTY,

'h"t 11-18HST

54

1996. 9



Y758 644

RiiNo.| & &% & 5 B & % 7 B | RN | 1T T8
300 808340 | 1%V -Ak-77F 1 0.8
346 810079 |7 47vr% BUF A2 2
613 805704 | v7EUT - 24V 4
883 | %A 805024 | 977-%"Arvk 2
676 * 808394 |7 73 1

* A EE807887 1 Arvh-kyMI A EhE T,

O NEFE L2157 V- B MNIEEhET,

A BESHFEBEL07910 N AT #-N -F-b -y r 2B ENF T,

O EPHFES807688 7 V-4 " Aryh-yMIEFEhE T,

¥¢\#Tlﬁiﬁf:b®‘17‘yt>7'Jﬁﬁ:ﬁ:tﬁ*)ito 19969

55



644 XZ—2FE—2ER

803

310

BRTEEATVWABRRIT7 v TUBRTT,
KEEBR ML > THARIRILRTT,

1’*.& 11-18HST

56

1996. 9



Ax—2F—2F 644

RiiNo.| B R &F 5 ® & % W i B fE% |[REEN| EETH
188 805247 | A5-5t-3[EE A1 2
309 494990 | A%-%-%-4 1 0.8
310 94004 HWLUA LR 2
311 497608 | 773y -4y 1 1.0
510 495878 | A3-%-K 347 1
544 497603 | A8-4-77%17 1
615 263080 | 7-+ 1
783 280104 | A%-4-%"7 1
801 394856 | N 347" %497 1
802 497607 | /K Ryy7° 1
803 497604 | A%-%-novT vy 1
1090 497605 | 7°3v-)7-+ 1
* IR EBE807887 4 Arvh-tyMIEEhE T,
O NEES 121 %7 V- MNIEENET,
A HEEE807IIO N VT AN -h-h-Fy M ICE TN E T,
O HEHBEEL07688 774" i AyhyMIEEhE T,
Hgh B THRENEHDE Ty TVEBREEVET, 1996. 9

57



644 HX4 v bty b

116A

1168 116

@

883A

=)

58 HxArvh vk

BRTETh TUVWABRRE7 v TUBRTY,
WENER R (B Y- - THBEIRILETY,

1996. 9

11-18HST
Prt s



AR5y bty b 644

RitNo.| H B & H 5 & i L B | REHE | HELIE
3 % 805101 | #4h-v-h 1
7| *4A 806086 YA Ay BT Ry b 2
9 * ¢ 7Y% A Ay b 1
&y D A DR FE)
12 * 805112 PIIr=A 0 Ay b 1
20 * 805049 FAN-y-} 1
51 % 805700 AvF=9 -0 Ay b 2
52 | * A 805023 49590 Aryh 2
116 * 805198 (0122 % 1
(FVI-2HN" =)
116A % 805058 oy -v-n 1
V" ¥7%)
116B * 805316 O L2772 % 1
(& 9797 $2-77)
167 | * A 805420 N VT IN =Y=R-Tyvy 4
171 * 805019 ayy-tyk 4
358 808389 A Ary by b
537 % 805655 X790-1- 0" Ay b 1
722 * ¢ (e UVZARSZS % 1
v D A DERFE)
883A | * A 805024 L) -Ab- A Ay b 2
978 * 805250 A" Ay bk 1
1022 * 805028 gyf-AN" =" Ay b 2

* SREAHER07887 1 Aryh-tyMIEEhE T,

O KMEFEES121 517 V- BNIEENE T,

A EREEBE807910 VT A-N -F-b-F M ICEENE T,
O HSHES807688 77 V-4 1" aryb- M E T h T,

HiEh B TEHENAZDDRT v TVBRELENET,
59

1996. 9



644 Fy hit—

\ 6
1022 \\ 167

= <
9 722

1033 /UL A—I\— ik—=IL ¥

1086 FU—Y HAZYH £k

& n 147 104 117
7 K ¢
102 634A 1mo @
LI 4 g 110A
9 gass @ e3ac

[0
& 1091

[121 #+TLy Fu 1

BTEHEhTVWABRZR 7y TUEBRKTT,
KENERE BT I - > THHRIRILETT,

v*t 11-18HST

60

1996.9



¥y hIN—Y 644

RitiNo.| B & &F & B & & K & H fERe [REMN | R TH
7 1 %A 806086 YIvE Ay R 1T Ay b 2 ‘
9 * ¢ YADES ARY YU S3) 1
&y b A DERAE)
52 | % A 805023 A75-0-1" Aryb 2
95 @ 805538 AyF R A2 2
102 @ 805541 477V 0 Ay b 1
104 @ 805545 Ju-pevy -ty 1
105 @ 805547 YA N YN 1
110A @ 806137 UPPA 1
117 @ 806126 YL VAVAR L 1
118 @ 808399 TAN VRN 1
121 808395 47 VA X9b
147 | @ 806128 | %177 Vi IR 1
167 | * A 805420 UPPZ 4
171 A 805019 uys-Fyb 4
634A @ 805544 Ay b - H7- 1
722 * & (O UMZARI2S % 1
v bD A DIRFE)
883A | * A 805024 172k A Ay b 2
1022 | * A 806039 Tyh-AN" -4 Ay b 2
1033 808391 N AT =N =k &y b
1036 807688 70-4" 2" Ay b ky b
1091 805862 URST RE ST VA 1

* A BE807887 1 Arvh-tyMI A EhE T,

O KEBE121 37 V- B MNIEEhI T,
A EEEE807910 N M7 AN -F-h-IyhIZHFERE T,
O HHES807688 77 Y- 4 Ay tyMI B EFNE T,

gk B THENRELHBORT v TUBRELNET,

1996. 9



good newdays

AMISLUL LV RRSE

Prt

RRER
Xty
R

WEMER T H—TE6E3ISE TI105
BEE R (03)3452-4311 (KX%)

HET aRERslet

IPL-644



	Top: 
	Return: 
	Body: 
	Engine: 


